
www.vintageair.com

901430 REV A 09/12/23, PG 1 OF 1

Packing List: 
1970-72 Chevelle/Monte Carlo

Condenser Kit 
with Chrome Drier (021374)

  No. 
1.
2.
3.
4.
5.
6.
7.
8.
9.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.

Qty.
1
1
1
1
1
13
13
1
1
2
3
2
1
1
1
1
1
1
1
1
3
1
1
1
1
1
1
1
1

Part No.
03767-VUC
01311-VUQ
18125-VUB
18247-VUB
18152-VUB
18249-VUB
18260-VUB
18266-VUB
18611-VUB
182360
33857-VUF
33858-VUF
35368-VCG
644074
644071-FCB
644163
659981
11079-VUS
23127-VUW
33134-VUI
31603-VUD
091173
091174
18258-VUB
64139-VUB
31600-VUD
18251-VUB
41117-VUP
901429

Description
Condenser, 14” x 24”, Parallel Flow
Drier, Chrome
Washer, 1/4” USS, Flat
Screw, #10 x 1/2”, Sheet Metal
Nut with Star Washer, 1/4-20
Screw, 10-24 x 3/8”, Pan Head
Nut with Star Washer, 10-24
Screw, #14 x 3/4”, Washer Head
Washer, 5/16”, Flat
Screw, 5/16-18 x 3/4”, Self-Tapping
O-ring, #6
O-ring, #8
Hardline, #6 Drier/Condenser
Bracket, Condenser, Top
Bracket, Condenser, Bottom
Bracket, Condenser, Top, Driver-Side
Bracket, Drier
Binary Switch, Male
Compressor Lead, 72”
Grommet, 2-Hole
Adel Clamp, 1/2” ID
Hardline, #6 Drier/Core
Hardline, #8 Condenser/Compressor
Screw, 10-32 x 3/4”
Bracket, Control Pod, Right
Adel Clamp, 3/8” ID
Nut with Star Washer, 10-32
Refrigerant Oil
Instruction, 1970-72 Chevelle Condenser Kit w/Drier

Checked By:
Packed By:

Date:

NOTE: Images may not depict actual parts and quantities.
           Refer to packing list for actual parts and quantities.

31 94

14 15 16 17 18 19

20 21 22 23 24 25 26

10

1311 12

875 62

27 28 29


